2017 BERE 43 HE 24 B 19 BX
XIREITE 1333 /% 20174£10H158 HHE
EES £ Al A ITEH [ ITH| 68| BT | ZE4T| =84 | XEH| 18 BE | BIT | BR SEER | PUER| =R | KK | HE
1 1 30 99 84 | 6 10 6 1 1 11 0 8 1 2 4 | 16| 2 | 0214
2 FE 42 181 | 152 | 24 | 48 5 0 0 23 13 5 1 0 20 | 14 | 7 | 0.349
3 MR 39 153 | 134| 25 | 26 13 0 3 31 2 7 3 1 8 | 13| 7 | 0.313
5 5 20 38 35| 6 10 1 0 0 3 0 1 0 0 2 3 2 | 0.314
7 B 34 107 | 101| 18 | 23 2 0 0 12 6 1 1 3 10| 15| 0 | 0.248
8 B = 37 138 | 118 26 | 32 9 0 0 23 1 7 1 2 10 | 13 | 0 | 0.347
9 = 43 163 | 132 27 | 29 11 0 0 20 3 10 0 3 18 | 27 | 12 | 0.303
10 | 8% BX| 12 18 12 1 1 0 0 0 2 1 0 1 0 5 2 1 0.083
11 HZR 2 8 8 2 0 0 1 0 1 0 0 0 0 0 2 0 | 0125
14 AR 18 32 23| 8 1 0 0 0 2 1 3 0 1 5 7 1 | 0.043
17 = 31 107 98 | 20 | 27 12 4 1 23 0 2 0 2 5 | 13| 0 | 0.449
22 AE 36 144 | 116 | 22 | 24 11 1 0 23 8 12 3 5 8 | 15| 1 | 0.310
23 FREF 33 134 | 115| 24 | 19 11 2 3 24 0 3 2 1 12 | 19 | 0 | 0.304
25 B #t 41 165 | 132| 25 | 27 14 0 1 32 3 4 3 0 25 | 20 | 3 | 0.318
26 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIv/iO!
29 M 42 182 | 151 | 39 | 40 9 2 0 15 15 2 1 7 20 | 13 | 1 | 0.338
1669 1411 273 317 104 11 9 245 53 65 17 27 152 192 37
F—LITHR 0.313
WEBA=_2T% 330 F—L/RE 7445
KIRERBKA =2F 43 =]
&S £ Rl ERE A=Y B | & |[t—J|E=R| E=RE | MIEBK | MIEBKE | HRIT| k8 |BES | HEE
11 HZR 15 76 6 5 0 48 5.68 28 3.32 73 33 30 3.55
12 BE I 23 |85.333| 8 1 3 55 5.80 22 2.32 60 24 19 2.00
13 ok 14 |9.6667| 0 2 1 1 0.93 8 7.45 15 14 13 12.10
15 FE 12 28 1 1 1 21 6.75 13 4.18 29 19 14 4.50
17 =5 6 16 0 1 2 4 2.25 9 5.06 13 9 6 3.38
19 [ Sp:u 21 80 6 7 0 30 3.38 31 3.49 87 48 42 4.73
20 EEE 17 21 2 1 0 11 4.71 15 6.43 10 7 5 2.14
27 R 18 27 1 0 0 20 6.67 25 8.33 29 26 18 6.00
28 Sl 8 8.6667 | 0 0 1 5 5.19 10 10.38 5 4 4 4.15
134 351.67 24 18 8 195 161 4.120379 321 184 151
F—LAEZE  3.864
F—LKXRE 4709
20174 OPEf - #ENE 24 RE 13 B 11 B¢




XIBEITE 744 1% 20174£10H158 HHE
EES 1] A ITES (T8 85| BT | 2847 =84 | A8 {8 BE | BIT | BR BBk | OBR| =¥R| kK| ITE
1 1 17 60 51 | 2 6 2 1 1 6 0 5 0 2 2 7 0 | 0.196
2 FE 23 96 78| 15| 24 3 0 0 12 7 1 1 0 14 | 6 3 | 0.346
3 MR 20 73 64 | 13 9 8 0 2 14 1 3 0 0 6 7 2 | 0.297
5 5 15 31 28| 5 10 0 0 0 2 0 1 0 0 2 2 2 | 0.357
7 B 22 77 74 | 12| 13 2 0 0 11 4 0 1 3 8 | 12| 0 | 0.203
8 B =a| 19 69 62 | 11 14 4 0 0 11 0 2 1 1 3 7 0 | 0.290
9 = 24 84 67 | 10| 14 5 0 0 11 3 6 0 0 11 | 17 | 5 | 0.284
10 | BF &KX 8 15 9 1 0 0 0 0 1 1 0 1 0 5 1 0 | 0.000
11 HZR 1 4 4 0 0 0 0 0 0 0 0 0 0 0 1 0 | 0.000
14 AR 10 22 15 [ 6 0 0 0 0 0 1 2 0 1 4 5 0 | 0.000
17 = 14 42 37| 7 6 6 1 0 4 0 0 0 1 4 4 0 | 0351
22 AE 20 73 55 | 12 | 10 4 0 0 6 4 8 2 2 6 7 0 | 0.255
23 FREF 20 79 68 | 14 | 13 5 2 2 17 0 1 2 1 7 | 10| o [ 0.324
25 BR & 23 84 70| 9 14 6 0 1 17 3 2 1 0 11 | 10 | 2 | 0.300
26 e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIv/iO!
29 *H 23 98 77 | 21 | 19 7 2 0 6 8 1 1 5 13| 6 0 | 0.364
907 759 138 152 52 6 6 118 32 32 10 16 96 102 14
F—LITHR 0.285
WEBA=_2T% 180 F—L/HEE 6900
KIRERBKA =Y 24 ]
&S £ Rl ERE A=Y B | & |[t—J|ZE=R| E=IRE | MIEEK | MIEBKE | HRIT| k8 |BES | HEE
11 HZR 6 282/3 | 4 1 0 24 7.53 9 2.83 20 3 3 0.94
12 BE I 11 | 37213 | 4 0 2 26 6.21 7 1.67 15 5 5 1.19
13 Pl 12 82/3 | 0 2 1 1 1.04 6 6.23 11 9 9 9.35
15 A 8 161/3| 0 0 1 11 6.06 8 4.41 18 15 11 6.06
17 =5 6 16 0 1 2 4 2.25 9 5.06 13 9 6 3.38
19 [ Sp:u 12 45 3 6 0 17 3.40 14 2.80 52 27 23 4.60
20 EEE 11 15 1 1 0 7 4.20 13 7.80 5 4 3 1.80
27 R 11 | 192/3| 1 0 0 12 5.49 16 7.32 16 16 14 6.41
28 Ll 7 7213 | 0 0 1 5 5.87 10 11.74 4 4 4 4.70
84 19467 13 11 7 107 92  4.253425 154 92 78
F—LEZE  3.606
F—LKXRE 4253
20178 R EL 19 RHE 11 B 8 B




KIREFE 589 1TE 2017% 10878 H=
E&ES £ Al A ITEH (ITH| B8 | BT | ZE3T| =84 | XREH| 18 BE | BT | BR BBk | OBR| =¥R| kK| ITE
1 1 13 39 33| 4 4 4 0 0 5 0 3 1 0 2 9 2 | 0.242
2 FE 19 85 74 ] 9 24 2 0 0 11 6 4 0 0 6 8 4 | 0.351
3 MR 19 80 70 | 12| 17 5 0 1 17 1 4 3 1 2 6 5 | 0.329
5 ES 5 7 7 1 0 1 0 0 1 0 0 0 0 0 1 0 | 0.143
7 B 12 30 27 | 6 10 0 0 0 1 2 1 0 0 2 3 0 | 0.370
8 5% =i 18 69 56 | 15 18 5 0 0 12 1 5 0 1 7 6 0 | 0411
9 = 19 79 65 | 17 | 15 6 0 0 9 0 4 0 3 7 | 10| 7 | 0.323
10 | BF &KX 4 3 3 0 1 0 0 0 1 0 0 0 0 0 1 1 | 0.333
11 ZR 1 4 4 2 0 0 1 0 1 0 0 0 0 0 1 0 | 0.250
14 neE 8 10 8 2 1 0 0 0 2 0 1 0 0 1 2 1 | 0125
17 = 17 65 61 | 13| 21 6 3 1 19 0 2 0 1 1 9 0 | 0.508
22 AE 16 71 61 | 10 | 14 7 1 0 17 4 4 1 3 2 8 1 | 0.361
23 FEF 13 55 47 | 10 6 6 0 1 7 0 2 0 0 5 9 0 | 0.277
25 B #t 18 81 62 | 16 | 13 8 0 0 15 0 2 2 0 14 | 10 | 1 | 0.339
26 Ha 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIv/O!
29 M 19 84 74 | 18| 21 2 0 0 9 7 1 0 2 7 7 1 | 0311
762 652 135 165 52 5 3 127 21 33 7 11 56 90 23
F—LITHR 0.345
WEBA=_2T% 150 F—L/HRE 8100
KIRERBKA=2F 19 [=]

&S £ Rl EREA=2Y B | & |[t—J|ZE=R| E=IRE | MIEBK | MIEEKE | HRIT| k8 |BES | HEE

11 HZR 9 4713 | 2 4 0 24 4.56 19 3.61 53 30 27 5.13

12 BE I 12 | 47213 | 4 1 1 29 5.48 15 2.83 45 19 14 2.64

13 Pl 2 1 0 0 0 0 0.00 2 18.00 4 5 4 36.00

15 FrlE 4 1123 | 1 1 0 10 7.71 5 3.86 11 4 3 2.31

17 =5 0 0 0 0 0 0 #DIV/0! 0 #DIV/0! 0 0 0 #DIV/0!

19 [ Sp:u 9 35 3 1 0 13 3.34 17 4.37 35 21 19 4.89

20 EEE 6 6 1 0 0 4 6.00 2 3.00 5 3 2 3.00

27 R 7 713 | 0 0 0 8 9.82 9 11.05 13 10 4 491

28 Ll 1 1 0 0 0 0 0.00 0 0.00 1 0 0 0.00

50 157 1 7 1 88 69 3.955414 167 92 73
F—LAEZE 4185
F—LKXmE 5274




